Homawmork * 1 EC1141 - Bombardelli

3-0235 — 50 SHEETS — 5 SQUARES
3-0236 — 100 SHEETS — 5 SQUARES
3-0237 — 200 SHEETS — 5 SQUARES

3-0137 — 200 SHEETS — FILLER

COMET

Probletn 3 6.2.. The present pumping rate of North Slope Crude 0il through the A\aska
Pipeline is about 600,000 barels per dag (Vbarrel= 42 U S, gai\onS)
What would be the maximum rate if the Row wer consivained to be
laminat 2 Assume that Alaskan oil s Crude Oit;\'n hgA.l. of the
Pppendix at GO°C.

6 J% “» 600,000 2“1?-‘

crude oil at 60°C ( Rig A\, Whnte T ed.) :
ph=injro® Bt

m?
£= 086 (298 K2) = 858.28 1}

:4‘.- 4% 107 N S/o , Gm
V=% S * Her0

+ for lami:nnr few: Re <2200 + +
P'{M dmmc\ct: 2 ‘{3 n = 1.9%m

| pIpe crass- -sechonol ateq * A= 'n'( ) “-(L?-._L'l) z “qu
Re= \—& - V= R_EQ

e 12300) (166110 ")

v< 819521072 2 for laminar flow.
flow Q= AV
@ (L) (8185 %107 D)
a= 10717107 ¥
convert flow Q. to banels/doy :

L -2 {7 qai\{ )bastel %Q‘iOOs ; e
Q= LOLT*O @(Mms )(‘nea\> .ldag) L& 5581. | dag‘

Y 5600 ban-d;
day




¥ ]
] I\OBL Q=35 /9\

H A A

| = :\J{f a T (025w (_4_&_32

D=4 = aadiua {2 dnn

> =R
_ 70340 %
56 = Plqud — 0.9 = P, =091 g
fwater

4-?4-5;»&&3&

Tosing Bernoulli equation Ee*weén @T)H;nd (2)

and C{'\Sr@._csard‘\ﬂg Dlg_z -

foe
a 4/%/_%+¥2+%+h4

We consider \erge reServolr =
2,

hf= 2% Y2

7.

=10t —(7 13) qu% - a2

2x322

Now , We QSsume \am\r\ar —How —
hp= £ L V3o 64 LV®
DZ& 'ﬁze D 28

#2



"N D 78
1 2
S WDy _ 92 T i
32 L 37‘*6“?"4'\3‘%15

#3



Homeweork #1 ECIIML - Bombardell

3-0235 — 50 SHEETS — 5 SQUARES
2-0236 — 100 SHEETS — 5 SQUARES

3-0237 — 200 SHEETS — 5 SQUARES

3-0137 — 200 SHEETS — FILLER

COMET

ProbemS 6,25, For the configurahon shown  dne Fluidis ethyl- alcohol ot 20°C and the

tanks are very wide. Fod the flow rale which otuuts in /e Is flow \aminar?
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Now because Pipt dtqmdcr d is'small, 1aminar Flow is assumed,
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Check laminar assuimph'on‘
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